M RN

IREESLEREA R o

ﬁiro ﬂﬁit ] o Ff

v }- G '\
C B: N
BI
CF..A
BCF.A %R T ThL
L ERKS R (mm) EAREE EAREE =KX RIFEER BTN =X RE
BIERE ‘ v B RVFET % $2% 7146
) Bl =5NE IKTE SN
- R250( = CF5) R500(CF6 ~ CF10-1)
® b | R el R O E M B < E @ & | | @& ON I
—— - = - rs f Cr Cor %gl\@ HE&"@ g
UN R Erad At Lol o d
0 CF 3A CF 3UVA CF 3RA CF 3UURA 1470 1180 360 47 000
3 0010 10 7 3] M3x05 | 5 |17 9 05| 2 | 0.2 6.8 1370 370 0.4 45
’ CF 3VA CF 3VUUA CF 3VRA CF 3VUURA 2 800 2 500 360 18 800
0 CF 4A CF 4UUA CF 4RA CF 4UURA 2 060 2 050 780 37 000
4 0012 12 8 | 4| M4x0.7 | 6 |20 11 05/25] 03 8.6 1760 470 1 7.5
’ CF 4VA CF 4VUUA CF 4VRA CF 4VUURA 4000 4300 780 14 800
0 CF 5A CF 5UUA CF 5RA CF 5UURA 3140 2770 1420 29000
5 0012 13 9 5| M5x0.8 | 7.5 (23| 13 05| 3| 03 9.7 2 250 530 2 10.5
’ CF 5VA CF 5VUUA CF 5VRA CF 5VUURA 5100 5500 1420 11 600
0 CF 6A CF 6UUA CF 6RA CF 6UURA 3630 3630 2110 25000
6 0,012 16 11 | 6| M6xI1 8 28| 16 06| 3 | 03 11 3430 1080 3 18.5
’ CF 6VA CF 6VUUA CF 6VRA CF 6VUURA 6960 8530 2110 12 000
0 CF 8A CF 8UUA CF 8RA CF 8UURA 4310 4710 4710 20 000
8 0,015 19 11 | 8 | M8x1.25| 10 |32 | 20 06| 4 | 03 13 4020 1370 8 28.5
’ CF 8VA CF 8VUUA CF 8VRA CF 8VUURA 8130 11170 4710 9 000
0 CF10A CF10UUA CF10RA CF10UURA 5390 6 860 6 860 17 000
10 Py 22 12 |10/M10x1.25| 12 | 36| 23 06| 5| 03 15 4700 1670 15 45
’ CF10VA CF10VUUA CF10VRA CF10VUURA 9510 14 500 7 450 7 500
0 CF10-1A CF10-1UVA CF10-1RA CF10-1UURA 5390 6 860 6 860 17 000
10 0015 26 12 |10/M10x1.25| 12 | 36| 23 06| 5| 03 15 5490 2 060 15 60
’ CF10-1VA CF10-1VUUA  |CF10-1VRA CF10-1VUURA 9510 14 500 7 450 7 500
* EEIHE, E&EREEE. MRR2REE, EARFERRIZEER 130%. SNERE (um) F4F
HATHE, BEMZEER 0% e El&4NE RETSNE
CF3,CF4,CF5,CF6 0/-8 0/-50 e
CF8,CF10,CF10-1 0/-9 0/-50 e
2 E
CF3/CF4/CF5/CF6/CF8/CF10/CF10-1 S5k

160 NOSE SEIKO CO.,LTD. NOSE SEIKO CO.,LTD. 161





